[image: image2.png]<07y







RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


Y10SDM
Yamaha FZS1000 Fazer 2001-2005
	Kit for the left side
	Kit for the right side

	
	
	
	
	
	
	
	
	
	

	ID
	Description
	Cat.no
	Pcs
	
	ID
	Description
	Cat.no
	Pcs
	

	1
	SLDM adapter
	537/B
	1
	
	1
	SLDM adapter
	537/B
	1
	

	2
	Bolt M12x50mm
	869
	1
	
	2
	Bolt M12x50mm
	869
	1
	

	3
	Bolt M10x130mm
	883
	1
	
	3
	Bolt M10x130mm
	883
	1
	

	4
	Bolt M8x130mm
	884
	1
	
	4
	Bolt M8x130mm
	884
	1
	

	5
	Washer M10 (plane)
	804
	1
	
	5
	Washer M10 (plane)
	804
	1
	

	6
	Nut M10 (safety)
	810
	1
	
	6
	Nut M10 (safety)
	810
	1
	

	7
	Washer M8 (plane)
	802
	1
	
	7
	Washer M8 (plane)
	802
	1
	

	8
	Nut M8 (safety)
	809
	1
	
	8
	Nut M8 (safety)
	809
	1
	

	9
	Duralumin adapter
	586
	1
	
	9
	Duralumin adapter
	586
	1
	

	10
	Dural. cylinder adapter 30mm
	171
	1
	
	10
	Dural. cylinder adapter 30mm
	171
	1
	

	11
	Bolt M6x20
	1024
	2
	
	11
	Bolt M6x20
	1024
	2
	

	12
	Washer M6
	1023
	2
	
	12
	Washer M6
	1023
	2
	

	
	
	
	
	
	
	
	
	
	


[image: image3.png]


[image: image1.jpg]



INSTRUCTIONS
1) We recommend to use safety glue on all threads (medium strong).

2) Unbolt original bolts from the frame of motorcycle.
3) Fit adapter ID9 on the frame of motorcycle using two bolts ID3 and ID4 and washers ID5 and ID7. Tighten bolts using safety nuts ID6 and ID8.

4) Put SLD adapter ID1 and cylinder adapter ID10 on bolt ID2. Mount this kit on the adapter ID9.

5) Fit slider using two bolts ID11 and washers ID12.

ID10





ID9





ID1








2

